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It was a very nice weather. The

exclamatory form of this sentence is-

A) What a weather it was!

B) What a nice weather it is!
C) What nice a weather it was!
D) What a nice weather it was!
The synonym of “Wing’ is -
A) Plume B) Fan

C) Down D) Leaf

The synonym of ‘Wealthy’ is-
A) Opulent B) Healthy
C) Golden D) resourceful.
A of corn.

A) sheaf B) set

C) peal D) group

A of stones.

A) grove B) heap

C) volley D) shower
As as ABC.

A) simple B) easy

C) good D) difficult
As as a wolf.

A) brave B) fast

C) greedy D) cunning

The abstract noun of ‘Fool’ is-
A) Foolish B) Foly

C) Folly D) A fool.

The abstract noun of * White’ is-
A) Whitish B) Whiteness
C) Whity
Present everywhere

A) omniscient B) omnipresent
C) omnipotent D) none of these
One who is not guilty.

A) simple B) ignorant
C) audience D) innocent
A of wind.

A) sip B) wink

C) puff D) stump

D) None of these.
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43.

44,

45,

46.

47.

48.

49.

50.

A of salt.

A) chip B) grain
C) morsel D) pinch
The home of horse is -
A) stable B) hostel
C) shed D) sty

The home of snake is -
A) hollow B) hole

C) kennel D) form

The place where money is made:
A) Kiln B) Mint

C) Tannery D) Hosiery

The place where leather is made:
A) Tannery B) Mill

C) Brewery D) Hosiery
Books are kept in -

A) Wardrobe  B) Shelf

C) Godown D) Cage
Weapons are kept in -

A) arsenal B) wardrobe
C) pantry D) reservoir

*Ancient * implies the opposite of
modern whereas ‘Old” implies
A) new B) fresh

C) latest D) none of these.
Alter means to change a part but
change means

A) to develop B) to increase

C) to replace D) to exchange.
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This booklet contains 50 questions in all.

All questions are compulsory and each question carries 2 marks.

Before you start to answer the questions you must check up this booklet and
ensure that it contains all the pages 4(four) and see that no pageis missing or
repeated. If you find any defect in this Booklet, you must replace it immediately.
There will NOT be any negative marking for wrong answers.

You are required to fill the information on the answer sheet which you will get in
the examination hall by H.B. pencil or BALL point pen.

Answer Sheet and Question Paper will be supplied in examination hall. After
the test is over, you should hand over the answer sheet to the invigilator before
leaving the room.

You should write your Name, Roll No., carefully on the space provided in the
answer sheet. Otherwise you will be awarded ZERO mark.

If you wish to change your answer, ERASE completely the darkened circle by
using an ERASER and then blacken the new circle. If not erased completely,
smudges will be left onthe erased circle and the question will be read as
having two answer and will be ignored for giving any credit.

Answer the questions as quickly and as carefully as you can. Some questions
may be difficult and others easy. Do not spend too much time on any question.
You are not allowed to leave the examination hall until you are advised to do so
by the invigilator.




The imperative mood is used in -
A) The Present Tense
B) The Past Tense
C) The Future tense
D) All of these
He is too young---- this movie.
A) watching  B) watch
C) to watch D) being watched
Find the error:
A) Politicians should/
B) not let the criminal/
C) activities to grow/
D) in our country
Find the error
A) When he entered the home/
B) he found/
C) the child sleeping/
D) and the fan moves slowly.
A participle is a non-finite verb,
called a -
A)verbal adjective
B) verbal noun
C)verbal preposition
D) all of these
She stopped others.
A) to advise  B) advising
C) had advised D) advised.
Find the error.
A) He will propose to his friends/
B) that they will join this company/
C) which may provide them/
D) with promising careers.
Find the error.
A) Without taking proper care/
B) the doctors could not have been
saved/
C) this patient who received /
D) a bullet injury in the chest.
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12.

10.

11.

13.

14.

She wills to have a prize . *Wills’ is
treated as

A) an auxiliary verb B) a principal verb
C) a defective verb D) None of these

Find the error ( Ignore errors of
Punctuation, if any)

A) Based on the newspaper reports,/
B) we can conclude that/

C) many accidents caused by reckless
driving./

D) No error.

A) The same procedure/

B) also should used/

C) for the final assessment.

D) No error

Choose the best way to complete these
passive sentences.
Your jacket over there.
A) can be hang up
B) can be hung up
C) can be hunged up
D) can hung up.
to you yet?
A) Has the book been given back
B) Have the book being given back
C) Have the book been give back
D) Have the book been gave back
The active form of “ How was it done
by you?”
A) How had you done it?
B) How do you do it?
C) How did you do it?
D) How did you done it?

15.

16.

17.

18.

19.

20.

21.

22.

23.
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The passive form of “ They made
him king.”

A) King was made him by them.

B) He was made king by them.

C) He had been made king by them.
D) King had been made him by them.
Adverb of degree qualify

A) Verb and Adverbs

B) Verb and Adjectives

C) Adjectives and Adverbs.

D) None of these.

Never insult the poor. “Never” is
A) a verb B) an adjective

C) a noun D) an adverb.

Find the error.

A) They are very senior/
B)tome;sol/

C) dare not play a joke/

D) on them.

The adverb form of “true” is
A) Truely B) Truly
C) Trully D) Truley

The adverb form of “ side” is
A) sidelly B) sidely
C) bisides D) None of these

Find the error.

A) | liked that opportune moment/
B) where the workers proved their might/
C) to take on the company/

D) and came out victorious.
“Through” is an example of -

A) simple preposition.

B) compound preposition

C) participial preposition

D) prepositional phrase.

* Across” is an example of -

A) simple preposition

B) compound preposition

24,
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26.

27.

28

29.

C) participial preposition
D) none of these.

Find the error.

A)This book deals/

B) in the burning problems/
C) our country is facing/

D) at present.

Coordinating Conjuctions join words or
phrases or clauses of

A) unequal rank

B) equal rank

C) both equal and unequal ranks

D) none of these.

He is poor yet he is honest. “Yet” is a -
A) co-ordinate conjunction

B) sub-ordinate conjunction.

C) co-relative conjunction

D) none of these

Find the error.

A) Mr.\Verma/

B) not only stopped coming /

C) here but also going to any place/

D) which is related to his past tragedy.
Alas! our beloved leader is dead. The
assertive form of this sentence is -

A) | was very sas that our beloved
leader is dead.

B) It is very sad that our beloved leader
was dead.

C) It is very said that our beloved
leader is dead.

D) It is very sad that our beloved
leader is dead.

Hush! the patient is asleep! The feeling
expressed by this sentence is -

A) joy B) grief

C) surprise D) attention



